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Question Number : 1 Question Id : 762857411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT true about a diode?
Options :

7608571641 % 1t 1s the simplest of semiconductor devices

7608571647, % 1t has characteristics that closely match those of a simple switch

7628571643, ¢ It 1s a three-terminal device



7628571644 % Zener, Schottky, Varactor are types of diodes

Question Number : 1 Question Id : 762857411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IAE & Y H @ T 7 ° #lF 3 g a8 &7

Options :

7628571641, % € <ixeldH HEETS 3THIOT %‘|

608571640 % TH HIFSTETUT FHT gE O WURUT T & Wy AT T E

o
2628571643 v TE Teh 3 TIHAS FTeT ITHIOT g

o SR, ATSH, AYFET, TAE F TN &

7628571644.

Question Number : 2 Question Id : 762857412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Electron Volt and Kilojoules are units to measure energy. Which option below best describes the conversion factor

between the two units?
Options :

7628571645, * 1.6 X 1077

7628571646, ¢ 1.6 X 10722

7628571647, ® 1.6 X 10%



7628571648. % 1.6 X 1071

Question Number : 2 Question Id : 762857412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Selacl atee 3R e, Far A #7 sesar 2| e A @ g &1 OFew s ar e A &
FITAL0T 0T (Conversion Factor) & Hafedd 397 ¥ gefiar g2

Options :
7628571645, % 1.6 X 1012

7628571646, ¢ 1.6 X 10722

7628571647, ® 1.6 X 107

7628571648, % 1.6 X 10712

Question Number : 3 Question Id : 762857413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Diodes are the simplest of semiconductor devices. In context with diodes, what does ‘L’ in LED stand for?
Options :

7628571649, % Laser

7628571650, v Light

7628571651, ¥ Luminous



7628571652, % Lustre

Question Number : 3 Question Id : 762857413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STAS A{IdH U=Teleh 3THI0T ¢| STAE & T A, LED (TH.33) # L (To) 7 Far 38w 2

Options :

=7 (Laser)

7628571649. *

7608571650, v onee (Light)

af@=g (Luminous)

7628571651, % =

7628571652, ® e (Lustre)

Question Number : 4 Question Id : 762857414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A BIT consists of three differently doped semiconductor regions. Which of the following is NOT a region in BJT?
Options :

7628571653, % Emitter

7628571654, % Base

7628571655. ¢ Reflector

7628571656, ¥ Collector



Question Number : 4 Question Id : 762857414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SR FHRA il (BJT) # I = 39fA3T (doped) 3d=mers v g & R # @ =i
T SEUe Sl aieEeY (BJT) & U &9 757 87

Options :

7628571653, * fH

7628571654, % TH

7628571655, ¥ {TFeleFre
7628571656. % °© SRR

Question Number : 5 Question Id : 762857415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FETisa device and BIT is a device.
Options :
7608571657, % bipolar, bipolar

7608571658, % Pipolar, unipolar

7628571659, « unipolar, bipolar

7608571660, % unipolar, unipolar



Question Number : 5 Question Id : 762857415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FET T+ 39RI0T § 3 BJT T 39RI0T &l
Options :

7628571657. # j N ‘j 2

7628571658, *

THeET, Siaear
7628571659, ¥ 2 >

mm,um;ﬁ:r

7628571660. * =

Question Number : 6 Question Id : 762857416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is the only region on a FET characteristics curve where there is a linear response in current from changes in
the voltage.
Options :
760857166]. ® Cut-off region

7608571662, v ©Ohmic region

7608571663, % Saturation region



7628571664, % Breakdown region

Question Number : 6 Question Id : 762857416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, Bres ghae gIiorEel (FET) 3@ ereior 536 (characteristics curve) WX HAiSlg THATT VAT &7
g, ST dlecsT H dond @I I91g & U H B 3gfonar g 2

Options :

857161 % PE-HTE &1 (Cut-off region)

AT &F (Ohmic region)

7628571662. ¥

Tgea &7 (Saturation region)

7628571663, *

§os13 &7 (Breakdown region)

7628571664, *

Question Number : 7 Question Id : 762857417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



BJT operates in different configurations. Which basic configuration of a BIT is depicted in the given figure?

“1.
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l
+
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lie. - I L Vel
Ly Y. E |
e " |

Options :

7628571665, ¥ Common base
7628571666, ¢ Common emitter
7628571667, ¥ Common collector

7628571668, % Common reflector

Question Number : 7 Question Id : 762857417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



FEUeR I Eiteieel (BJT) ffies fa=arat (Configuration) & &/ Far g1 &= & 719 3$fa #,
BJT & &7 & Ha f@=amd (configuration) Z=irar =ram g2
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Options :

7678571665, % PIFT oW

7628571666,  PIH lF=rrg

7628571667, # FIHAT Foleed

7678571668, % PIHT Yol

Question Number : 8 Question Id : 762857418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A signal is said to be even when it satisfies which of the following conditions?

Options :
7628571669, # (1) =—X(-1)
7628571670, ¢ () = X(-1)



7608571671, ® (b)) =X(t+n)

7628571672, % ~ut) =X(n)

Question Number : 8 Question Id : 762857418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & @ Fla @ a7 F Tgee FA W BeAe F FHIUT (even) AT TG 87

Options :
9 % X(t) =-X(-1)

762857166
7628571670, ¢ o) = X(=1)
7628571671, % ~u() = X(t+n)
7628571672, % (1) = X(n)

Question Number : 9 Question Id : 762857419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A transistor has a current gain of 100 in the CC mode. Its current gain in the CB mode is:
Options :

7628571673. ¢ 0.99

7628571674, ® 99

7628571675, # 0.01



7628571676, % 100

Question Number : 9 Question Id : 762857419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CC A5 # s gifeEey Fr arr afr (current gain) 100 &1 CB A'F H SHeT 9T offer (current gain)
FOT BRI

Options :

7628571673, v 0.99
7628571674, % 99
7628571675. % 0.01

7628571676. % 100

Question Number : 10 Question Id : 762857420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Fermi level is 0.4 eV above valence band in a p-type material.

The concentration of acceptor atoms is increased by a factor 4. The new position of Fermi level is likely to be:

Options :
7628571677, # 0.5 eV above valence band

7628571678, ¢ 0.38 eV above valence band



7628571679 % 0.1 eV above valence band

7628571680 ¥ below the valence band

Question Number : 10 Question Id : 762857420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TF P-UFR & TSy H AT o9, AT a8 (valence band) ¥ 0.4 EVW%IWWQEW
H 4% 7o 7 g & 1 8 3w A o Fr 93 Ty w2 aeie

Options :
608571677 % TS 88 § 0.5 eV F9X

628571678,  TAST 48 & 0.38 eV FW
608571670 % TAST 48 T 0.1 eV F

2628571680, % TS 8 T Ay

Question Number : 11 Question Id : 762857421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An LED has a rating of 4 V and 10 mA. It is used along with 8V battery. The range of series resistance is:

Options :
7628571681, ¥ 010 200 Q

7628571682, % 200 to 400



7628571683, ¥ 200 Q2 and above

7628571684, ¢ 400 Q and above

Question Number : 11 Question Id : 762857421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U TA.SE. (LED) # W 4 V 3K 10 mA B1 57 8V e & w1y 3uanT fFar Sar g1 9gea Aol
gfarer & I &1 gefe?

Options :
7628571631, % 0 & 200 Q

7628571652, % 200 & 400 O
2608571683, * 200 Q HR 3TH A

2608571634, v 400 Q 3R 3ET 3=

Question Number : 12 Question Id : 762857422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The inductance of a single layer solenoid of 20 turns is 10 nH. Which of the following is the correct value of inductance
when the number of turns is 40 and the length is doubled?

Options :
7628571685, % 10 HH

=
7628571686, ¢ -0 HH



7628571687, % 0 HH

7628571688, % 02 MH

Question Number : 12 Question Id : 762857422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
20 %I Il Tk Uehel 9Id ISR (single layer solenoid) & 93&ca 10 pH &1 39 %I Fr T&ar i
TET 40 3R FET5 F IRET R fGIr ST g A SWeped 1 WEr AT 4T 2e?

Options :

7628571685, % 10 HH

7628571686, v 20 HH

7608571687, % 40 HH

7628571688, % 02 MH

Question Number : 13 Question Id : 762857423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If wires carrying current in the opposite direction are acting on each other by the forces of the

same magnitude, then

Note: For this question, discrepancy 1s found in question/answer. Full



Marks is being awarded to all candidates.

Options :

7628571689 the wires will repel each other

7628571690, the wires will attract each other

7628571691 the wires will neither attract nor repel each other

7608571692 the wires will start oscillating

Question Number : 13 Question Id : 762857423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

uﬁ;ﬁ‘qﬂﬁﬁanﬁﬁqﬁd URT FATE ATl & IR T gAY W A IRATT & Fo7 FRT e g, af
|

Note: For this question, discrepancy is found in question/answer. Full

Marks 1s being awarded to all candidates.
Options :

.ﬁ'rﬂ*{ e ZEL F Afaa e

7628571689

':ﬂ'dH TR GEY F HTEROT HLeT

7628571690

.ﬁanﬂa#wa@irﬁamﬁﬁaﬁﬁmﬁﬁrwmﬁmﬁﬁ

7628571691

aRT 7 S U g ST

7628571692



Question Number : 14 Question Id : 762857424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A converts the signal from its original form to a waveform expressed as a voltage, current or an
electromagnetic waveform.
Options :
7628571693, ¥ multimeter

7628571694. « transducer

7628571695, ¥ Vvoltmeter

7628571696, # amineter

Question Number : 14 Question Id : 762857424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foeae &1 30F A3 ¥ F TF T T # TN T ¢, 98 atees, o7 a1 gga-

ThIT TET & T H U fohdl AT g

Options :

7628571693, % HECIHIE
7628571694, ¢ 5

7628571695, * STeTHIET



7628571696. # THTER

Question Number : 15 Question Id : 762857425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The total phase shift of the three RC lead networks in an RC phase shift oscillator is
Options :

7628571697, # 360°

7628571698, ¢ 180°
7628571699, ¥ 90°

7628571700, % 0°

Question Number : 15 Question Id : 762857425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RC &1 v 3fif@eier #, @7 RC <13 Aca=! (RC lead networks) & el et e forcgar grem?

Options :

7628571697, % 360°
7628571698, ¢ 180°
7628571699, ¥ 90°

[#]
7628571700. % 0O



Question Number : 16 Question Id : 762857426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the quality factor Q of a single-stage single tuned amplifier is quadrupled, then the
bandwidth will

Options :
7628571701, ¥ remain the same

7628571702, % become half
7628571703, ¥ become double

7628571704, « become one-fourth

Question Number : 16 Question Id : 762857426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TFA-T0T Tehel HREINT 9 (single-stage single tuned amplifier) & 0TAT ek (quality

factor) Q @r =hqaT féar e g, &t Ssfasy 9 F4r wea gem?
Options :
7628571701. * AT EE m

7628571702, #* 3T E:T Il

ST & SATeEr

7628571703, * =



7628571704, ¢ e : Eﬁ. e

Question Number : 17 Question Id : 762857427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the given circuit. What will be the approximate DC output voltage of the circuit?

2k
2k +

_\[H;k

Note: For this question, discrepancy 1s found in question/answer. Full

Marks is being awarded to all candidates.
Options :
7628571705, 43V

Vi, = 10 sinot

7628571706, 2-6 V
7628571707, 3-8V

7628571708, 1.6 V

Question Number : 17 Question Id : 762857427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fow 17 9fygy & 3reTTT FI TRTYT FT DC HT3EYE Flocs TR b grem?

2k
2k +

-

Note: For this question, discrepancy is found in question/answer. Full

Marks is being awarded to all candidates.
Options :

Vo, =10 sinat

7628571705. 4.3 V
7628571706, 2.6 V
7628571707, 3.8 V

7628571708, 1.6 V

Question Number : 18 Question Id : 762857428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A microwave power meter is an instrument which measures the electrical power at microwave frequencies, typically in
the range of

Options :

7628571709, % 100 Hz to 40 kHz

7628571710, ¥ 100 kHz to 40 MHz



7628571711, ¢ 100 MHz to 40 GHz

7628571712, % 100 GHz to 40 THz

Question Number : 18 Question Id : 762857428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATSHIAT TlalAE Teh VT ATIS g, S ega afed # AAaa o Fr AFET
Hgfeqar X AT
Options :

7628571709 % 100 Hz & 40 kHz
7628571710, * 100 kHz & 40 MHz
7628571711, v 100 MHz & 40 GHz

7628571712, % 100 GHz & 40 THz

Question Number : 19 Question Id : 762857429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fibre optic medium is the latest in-trend technology used to transmit a large volume of data over relatively long

distances. is a popular digital communication protocol used to transmit data via fibre optics.

Options :
7628571713, % IPV6

7628571714, ¥ SMTP



7628571715, + SONET

7628571716, ¥ HTIP

Question Number : 19 Question Id : 762857429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B 3Hifces ATCTA, U AdAdH UfAe doheiter ¢, [SHer 393RT 39eflegpd &€ g T 37 A1 &
3T TG FA F v GFar amar §1 B 7 ¥ ST o wEst AiTedy & Jareds ¥ 39 g W1
# fow ggwa Aty Bea g=r S 22

Options :

7628571713, % IPv6

7628571714, % SMTP
7628571715. ¢ SONET

7628571716, % HTTP

Question Number : 20 Question Id : 762857430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an advantage of terrestrial microwave over satellite communication?
Options :

7628571717, % Lower cost

7608571718, ® Reduced latency



7608571719 % lncreased flexibility

7608571720« High attenuation

Question Number : 20 Question Id : 762857430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frrafaf@a # & #i9 a1 393 F=9R 1 goa § T gER @l (terrestrial microwave) FT Ua AT

Options :

7628571717, % I9eTpd f@F @eTT (Lower cost)

7628571718, % {51 #i=iar (Reduced latency)

2628571719 % TSR orEeTae (Increased flexibility)

J628571720. 329 &0 (High attenuation)

Question Number : 21 Question Id : 762857431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the decimal value of binary 01110?

Options :

7628571721, % 810



7628571722, ¢ 1419

7628571723, % 1619

7628571724, % 1810

Question Number : 21 Question Id : 762857431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSI TEAT 01110 7 AT AT FAT gE?
Options :

7628571721, % 810

7628571722, ¢ 1449

7628571723, % 1619

7628571724, % 1819

Question Number : 22 Question Id : 762857432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is an example of a semiconductor memory.
Options :
7628571725. ¢ RAM

7628571726, ¥ MAR



7628571727. % CD-ROM

7628571728. % CD

Question Number : 22 Question Id : 762857432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o= 7§ @ #i9 @1 s3nd=res #FNT & T 3EET 27

Options :

7628571725, ¢ RAM

7628571726. # MAR

7628571727. # CD-ROM

7628571728. % CD

Question Number : 23 Question Id : 762857433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The direction of magnetic field intensity vector due to infinite long straight filament will be

Options :
7628571729, % radial

7628571730, % ©lliptical

7628571731, % Parabolic



7628571732, ¢ circumferential

Question Number : 23 Question Id : 762857433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U HAG oAz F WY orAT F g9g § e Gahr a1 H Jgar F Fiewr (FFew) F feRm =
2ret

Options :

=g (radial)

7628571730, ¥ et (elliptical)

_ 9Igdae (parabolic)

7628571731, *

7628571729, *

2628571732, v TIEIT (circumferential)

Question Number : 24 Question Id : 762857434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Contemporary multimeters can be used to measure several electrical parameters. Which of the following parameters
CANNOT be measured using a multimeter?

Options :
7628571733, % voltage

7628571734, % Electric current



7628571735, # Resistance

7608571736, v Electrical pressure

Question Number : 24 Question Id : 762857434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ITfAF ACACY &1 39T F3 Regd AMEs! & AT & v G a1 #har g1 e A7 ¥ B
ATIEE &I FHoclHeT &l 3TATT FIF Fel HGT ST ol 87
Options :

7628571733, % e

7628571734, % 3-5

7628571735, % SR

g o

7628571736. ¥

Question Number : 25 Question Id : 762857435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rehmaan is watching a web series on TV in his living room. He uses a remote control to switch on the air-conditioner.

He sets the temperature at 26 degrees. Just then the doorbell rings and there is a letter for Rehmaan. He can see the
postman on the CCTV in the kitchen. Which of the following is NOT a basic component of the telecommunication
system?
Options :



7628571737. % TV

7628571738, # Remote control

7628571739, « Letter

7628571740, ¥ CCTV

Question Number : 25 Question Id : 762857435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TEHT HTe 955 &7 & ddr X Ueh 98 HF & @ ¢l 98 TIR-FERRR H A9 & & fov KA

halol T 39T FTaT & a8 26 23 1 avHAT ¥ FIar ¢) I SEd a9ar ¢ 3 EAa & v =
99 AT g1 98 TS H & gU CCTV W =fHFe & & Foha g1 e # § a7 a1 &= gomedr =
e ST G €7

Options :

7628571737. % TV
J628571738, % HIE Fhetel

7628571739, ¢ 9

7628571740, ®* CCTV

Question Number : 26 Question Id : 762857436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The cross product of the vectorsa=1+3j—2kand b=35i— 3k is

Options :

7628571741, ® 1T Tj— 15K
7628571742, % L 7+ 15k
7628571743, ® 1~ 7j— 15k
7628571744, 1~ 71— 15k

Question Number : 26 Question Id : 762857436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afeel a = i + 3j‘2k3ﬂTb=5i—3k$rPﬁar?;mm(cmss product) FIT gIE?
Options :

7628571741, % 91 * 7] — 15K

7608571742, % 9 — 7] + 13K

7628571743, ® 91 — 7) — 1Bk

7628571744 @ ~91 = 7] — 15K

Question Number : 27 Question Id : 762857437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following does NOT hold true about XOR lists?



Note: For this question, discrepancy is found in question/answer. Full

Marks is being awarded to all candidates.
Options :

7608571745, Most debugging tools cannot follow the XOR chain, making debugging difficult

7608571746, Ve need to remember the address of the previously accessed node in order to calculate the next node’s address

7628571747, XX =0

7628571748, X70=0

Question Number : 27 Question Id : 762857437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

XOR aferamait & sy & oo & ¥ 9 O 37 T A8 272

Note: For this question, discrepancy is found in question/answer. Full

Marks 1s being awarded to all candidates.
Options :

Hfeprer SafET Zew, XOR STaT & 9ol 76l & Hehd, [oad S| w1 Hie & A &

7628571745.

7628571746.
3T AS (node) F TFH HT 0T I & [T, §H I9 H TFAH [T 7T A5 (node) F T3H AE &
T FETFAT BT E

7628571747, X2?X = 0



7628571748. X?70 = 0

Question Number : 28 Question Id : 762857438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Below is the recursive implementation used to convert a decimal number to its binary equivalent:

#include
int arr[31], len=0;
void recursive dec to bin(int n)
{
ifin==0 &&len = 10)
d
arr[len++]=0;
return;

|
ifin==20)

return;

-

recursive dec to bin(n/2);
i

int main()

d

intn= 100, i;



recursive dec to bin(n);
for(i=len-1; 1==0; i--)
printf("%d",arr[1]);
return 0;

|

Which of the following lines of code should be inserted to complete the program?

Options :

7628571749 % arf{len]=n

7608571750, ® ar[len]=n%2

7608571751, v Alrlen—]=n% 2

7628571752, % At{len—+]=n

Question Number : 28 Question Id : 762857438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frdY germres TEAT #F 3EE AN THSE H TGRS #d F o0 TgFd NefEa geaidee (recursive
implementation) == f&ar /ar &

#include
int arr[31], len=0;
void recursive dec to bin(int n)

{



if(n == 0 &&len = 0)
d

arr[lent++]=0;

return;

f

ifin==20)

return;
recursive_dec to bin(n/2);

|

int main()
{
intn=100, i;

recursive dec to bin(n);
for(i=len-1; i==0; i--)
printf{"%d",arr[i]);
return 0;

|

SEMH QW WA & o TEE F ¥ FiT @ FIE 9T F 9ens 7 enfEer G
STAT =ET?

Options :

7628571749, % arr{len] =n



7628571750, % art[len] =n% 2

7628571751, ¢ Ar[lent+]=n% 2

7628571752, % att(lent+]=n

Question Number : 29 Question Id : 762857439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Below is the code snippet to find the nth Fibonacci term:

int fibo(int n)
ifn=0
return O
else
prevFib =0
curFib=1
fori: 1 ton-1

nextFib = prevFib + curFib

return curFib
Complete the above code with the appropriate option.
Options :



prevFib = curFib
7628571753, # cur’Fib=curFib

prevFib = nextFib
7628571754, % CurFib = prevFib
prevFib = curFib
7628571755. ¢ curFib = nextFib

nextFib = prevFib

7628571756, ¥ CcurFib = nextFib

Question Number : 29 Question Id : 762857439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



nal FIEEARITS 9¢ Iod A F &0 9o 13 Foe A= fear &

int fibo(int n)
ifn=0
return 0
else
prevFib =0
curFib=1
fori: 1ton-1

nextFib = prevFib + curFib

return curFib

39ged faehed & TTA FIh IIFT BIS B I B
Options :
prevFib = curFib

7628571753, % curFib = curFib
prevFib = nextFib

2628571754, % CurFib = prevFib



prevFib = curFib

7628571755,  curFib = nextFib

nextFib = prevFib

7628571756, % curFib = nextFib

Question Number : 30 Question Id : 762857440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(OAM) of light is a technique by which data is carried on light waves that have been twisted into a spiral
form, to increase the optic cable capacity further.
Options :
7608571757 % Orbital Amplified Modulation

7628571758, % Orbital Angular Modulation

7628571759, Orbital Angular Momentum

7628571760, % Orbital Amplified Momentum

Question Number : 30 Question Id : 762857440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9eRTar (OAM) TeF VY Jerelts ¢, o0 2anr 27 &+ §fider &9 7 Al 71 Tohrer @ W
H=TE T SaT &, arfeh 3H1fSer hatel &7 &THAT & 3T 31f9e semr =1 &)

Options :




7628571757, % FET Faferd H’E’»ﬁ‘%m (Orbital Amplified Modulation)

7628571758, % eI HIUTT Hulg?—\ﬁem (Orbital Angular Modulation)

2628571750 PENT HIUTT FT (Orbital Angular Momentum)

7628571760, % weftr gaferg @391 (Orbital Amplified Momentum)

Question Number : 31 Question Id : 762857441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The name of the measuring instrument Ammeter was coined from the word
Options :

7628571761, ¥ Ammet meter

7608571762, « AMpere meter

7628571763, % Amperet meter

7628571764, % inalog meter

Question Number : 31 Question Id : 762857441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TF THET F AH few ereg ¥ o s ar?
Options :



TAT HIeT (Ammet meter)

7628571761. %

TiPqgT H#ieT (Ampere meter)

7628571762. ¢

T HeT (Amperet meter)

7628571763, %

8571764 % T HIET (Analog meter)

Question Number : 32 Question Id : 762857442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An ammeter is generally denoted by letter in any circuit diagram.
Options :

7628571765. # R

7628571766, % V
7628571767, % 1

7628571768, ¢ A

Question Number : 32 Question Id : 762857442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fordr ofr ol 3@ A, THeT & AAETS: ST 99T & g 9T gENT SRTaT ST g7
Options :
7628571765. # R



7628571766. # V
7628571767. % |

7628571768. ¢ A

Question Number : 33 Question Id : 762857443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the correct formula to convert apparent power in kilovolt-amps (kKVA) to real power in watts (W), assuming
power factor is PF?

Options :
7628571769, ¢ W= 1000 X kVA X PF

7628571770. ¥ W=KVA X PF

628571771, ® W =(KVA X PF) / 1000

7628571772, % WY = (1000 X kVA) / PF

Question Number : 33 Question Id : 762857443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
afFd Tk F PF AT gT, Fraliaiee - offoaw (kVA) # wefifa smemdr ofFa &t ae (W) # w2ffa
T AT Tehel FTAT AP AT H FIGRT * & T g3 fFar S arer wdr g7 #2422

Options :



7628571769, ¢ W = 1000 X kVA X PF
7628571770. ¥ W =KkVA X PF

7628571771, ® W — (KVA X PF) / 1000

Se28571772. % W =(1000 X kVA) / PF

Question Number : 34 Question Id : 762857444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sara wanted to heat milk for her baby. She switched the power on but she forgot to put milk in the microwave. She

immediately switched off the microwave oven power.
Assertion: We should never operate an empty microwave oven.

Reason: When a microwave runs without anything inside, or if an item contains no water molecules, the microwaves in
the machine will be redirected into the magnetron. When the magnetron begins to absorb as many microwaves as it

produces, it can be damaged.
Options :
7608571773, v Both the assertion and the reason are true and the reason is the correct explanation of the assertion

7608571774, % Both the assertion and the reason are true but the reason is not a correct explanation of the assertion

7628571775, % The assertion is true but the reason is false

7628571776, % The assertion is false but the reason is true



Question Number : 34 Question Id : 762857444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR H9 5= & T g o/ #aT Agdr off| 38 AT Hiad Hi9 X G, dfa 97 38H gy
AT { 5| 3 T ARHEAT Hae FH 3% HT 2

APFUA, TH F=7 off TOT ASHET HTT FT FATST Adr FIAT AT

FROT. ST§ ABHET [ WEF € 1 el W & Fomar sar g, r i el av/g 7 9l F 30]
T g A 7 & Aoy gaw 9 A AR W & St S deee =T gEr
3caTied el GEA TN H RN F Tq97m ¢, dr Tg &ffaed g Wb gl

Options :

7628571773, ¥ HiFYF AT FRO 2l §ed % k2 iry & Irar hI4UT, HFFUT Fr '\EF?I' 9T T 9iTRa &ar %

7628571774, %

HFUA 3T FROT AT FT &, SR I AT FROT, HTHEYS F T T ¥ IS J4r FIT 8

J608571775. % HTHRUA Hed ¢ ATkl HROT HT 2

608571776, % HINGFUF FTcT ¢ Afhad FROT Tl 8

Question Number : 35 Question Id : 762857445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Microwaves have several advantages over radio waves. Which of them is NOT an advantage of the microwave?

Options :



7628571777, ¥ Increased bandwidth

7628571778, % High speed
7628571779, % Small antennas

7628571780, ¢ High attenuation

Question Number : 35 Question Id : 762857445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT T T G H GER AEN F 3w O gl @ A F e a1 gEw G Foany 7@ g2

Options :

HI&TPd U S=198Y (Increased bandwidth)

7628571777. %

608571778, % 3= I (High speed)

I U (Small antennas)

7628571779, *

2628571780, 3= &MU (High attenuation)

Question Number : 36 Question Id : 762857446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT an application of the vector product?
Options :



7608571781, % Using the vector product to find a vector perpendicular to two given vectors

7608571787, % Using the vector product to find the area of a parallelogram

7608571783, v Using the vector product to find the circumference of a parallelogram

7608571784, % Using the vector preduct to find the volume of a parallelepiped

Question Number : 36 Question Id : 762857446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
et & @ i o1 Tfeer UTET F HFIART T 82
Options :

. fow arw 3 wieelt & daa wfeer @@ F= F O wfeer ueEe F 39AT e

7628571781, #

 UF THAEL I999F &7 &SFFT AT Fl F o gieer uEEme FT ST FHIAT
7628571782, % 3.3 L

T FHAGY TGS H IAT AT F F AT Tfger uese F1 393197 Far

7628571783, ¢

T - 5 i £
7628571784, % Ueh HATAT Scheleh &bl A ATd ha & T T EQF TUTAth &l & ITAET F A1

Question Number : 37 Question Id : 762857447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Contemporary multimeters can be used to measure several electrical parameters.
Match the following:

Parameter Unit
1 | Voltage a | Ohms
2 | Current b | Farads
3 | Resistance |c | Volts
4 | Frequency |d | Ampere
5 | Capacitance | e | Henry
6 | Inductance |f | Hertz

Options :

7608571785, ® 1—L2-b,3—a,4-e 5-¢,6-d
7608571786, ® 1 —b,2—-f,3-a,4-e 5-¢,6-d
7628571787, ¢ 1 —€2—d,3-a,4—-f 5-b,6-e

7628571738 ¥ 1 —€2—-b,3-d, 4—-a,5-f 6-e

Question Number : 37 Question Id : 762857447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3T ACAICY & 393N #3 egd AMEs! % A & v G a1 #war g1 Meataia @ Hee
T

EZIEEE =S
1 | |A | FH
2 | ey B |t=
3 |9 |c |Iee
4 |3geg |d |ofEaE
5 |anfimr |e |ga@
6 |WFg |f g2
Options :

7608571785, % 1 -f,2-b, 3 -a,4-€ 5-¢ 6-d
7608571786, % 1 -b,2-f.3-a, 4-€ 5-¢, 6-d
7628571787, 1 =€ 2-d, 3-8, 4-1,5-b,6-¢

7608571783 ® 1 -¢, 2-b,3-d,4-a,5-f6-e

Question Number : 38 Question Id : 762857448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sweep generator is a piece of electronic test equipment used to test the frequency response of electronic filter circuits.

is a continuous signal in which the frequency increases or decreases logarithmically with time.

Options :
7628571789, v Clide sweep

7608571790, % Stepped sweep



7608571791, % Lable sweep

762857179, % Radio-frequency sweep

Question Number : 38 Question Id : 762857448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T JAFIET, UF JFR F Solodilh TIaI0T 3THI0T g, ST 3UART Solaciiers heed Jiaer &r
3gfed rgferar & 9T e & forw frar smar 2

T Tad feee ¢, Omdr 3gica ¥R & Ay T ® § sgdr I g 2

Options :
7628571780, v T0Tes FaT (Glide sweep)

s &9 (Stepped sweep)

7628571790. *

<o T&T (Table sweep)

7628571791, %

e e =9 (Radio-frequency sweep)

7628571792, %

Question Number : 39 Question Id : 762857449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In electrical engineering, the fundamental quantity of representing some information is called *signal’. Which of the
following is NOT a type of signal?

Options :

7608571793, % LEVen and odd signals



7608571794 % Periodic and aperiodic signals
7608571795, % Continuous and discrete signals

7628571796 ¥ Minor and major signals

Question Number : 39 Question Id : 762857449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sl ST A, Far Faar & Awg #te @ Jqog A & Beae s A gl = 7 @

FiT TT BT T IR 78T 87
Options :

. TH T {wn f@eae (Even and odd signals)

7628571793.

ATt 3T 3aEdt feae (Periodic and aperiodic signals)

7628571794, *

7628571795, ® o HR 3Aag &%= (Continuous and discrete signals)

o va g2 fAvas (Minor and major signals)

7628571796. ¥

Question Number : 40 Question Id : 762857450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



An ILED with a forward volt drop of 2 volts is to be connected to a 5 V stabilised DC power supply. Using the circuit
above calculate the value of the series resistor required to limit the forward current to less than 10 mA. Also, calculate

the current flowing through the diode if a 100 € series resistor is used instead of the calculated first.
Options :

7628571797, % 3002, 30 A

7628571798, ¢ 300 €2, 30 mA
7628571799 % 30 €2 30 mA

7628571800, % K2, 30 mA

Question Number : 40 Question Id : 762857450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 3l & BNES dleest 319 a1 Teh LED &1, 5 V & Trdiga DC fagga amqfd & wafaa fmar smar
g1 3TWITT I FT IIAT 1, 3T 9 F 10 mA ¥ FH W TfFT = & BT srmeas Sof
gfaYer & AT FT IJ0TAT FHY| SHF FAET, TE G AT T gred Siay F T 97 100 Q F Sofr
gfaarer 1 3941eT &ar 1T, aF STaiE  9ared &l el ©IRT & I10TAT F4)

Options :
7628571797, ® 300 Q, 30 A

7628571798, ¢ 900 Q, 30 mA
7628571799, % 90 £, 30 mA

7628571800, % O K, 30 mA



Question Number : 41 Question Id : 762857451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
acts like a perfect conductor with zero voltage across it. Similarly, when it is reversed biased, it acts as a

perfect insulator with zero current through it.
Options :
7628571801, ¢ Ideal diode

7628571802, % Ideal conductor
7628571803, * Ideal insulator

7628571804, % Real/Practical diode

Question Number : 41 Question Id : 762857451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

7628571501, v HTERT STATS

7628571802, % 3G =TT

3meeT faggaed

7628571803 #



7628571804, % areatas [ SrafEes = raE

Question Number : 42 Question Id : 762857452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The process of fibre optic communication involves the following basic steps. Arrange them in the correct order of
operation.

A, Receiving the optical signal

Relaying the signal along the fibre

. Converting into an electrical signal

D. Creating the optical signal usually from

an electrical signal.

Options :
7628571805. ¥ A—B —=C—=D

7628571806. ¥ C—B —=D—A
7628571807. ¥ D—C—=B — A

7628571808. ¢ D—=B —A —C

Question Number : 42 Question Id : 762857452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
7628571805, * A = B —- C — D

7628571806. # € — B — D — A
7628571807. % D - C — B — A

7628571808. ¢ D - B — A — C

Question Number : 43 Question Id : 762857453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In . the mechanism of ionisation occurs because of collision of electrons.

Options :
7628571809 ¢ Avalanche breakdown

7628571810, ¥ Zener breakdown

7608571311, % Schottky breakdown



7628571812, ¥ Reverse breakdown

Question Number : 43 Question Id : 762857453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7 ¥ B s%=3a A, 3TAeoT $Fr g, seacar Hr TET F FROT Far 7

Options :

7628571800 ¢ QTS SHI13A

7628571810. * Sl EEIE

7628571811, # AMe SHST3

7628571812, % AT FeRSTSA

Question Number : 44 Question Id : 762857454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the output of the following code?

void my_recursive function(int n)
d
ifin==0)
return;

printf("%d ".n);
my recursive function(n-1);
;

int main()

{
my recursive function(100):
return 0;

Options :

7628571813, # 100

7628571814, ¥ 1

7628571815, % 1009080 ... 100

7628571816, ¢ 1009998 ... 1

Question Number : 44 Question Id : 762857454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



= #IE #1 amEeqe Fr gem?

void my_recursive function(int n)
ifin==10)

refurn;

printf("%d ".n);
my_recursive_function(n-1);

1
1

int main()
!
my recursive function(100);
return O;
:.
Options :
7628571813, % 100

7628571814, % 1

7628571815. % 1009080... 100

7628571816, ¢ 10099 98 ... 1



Question Number : 45 Question Id : 762857455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the operational name of ‘The Indian Regional Navigation Satellite System’, the autonomous regional satellite
navigation system that provides accurate real-time positioning and timing services in and around India?

Options :

7628571817, ¢ NAVIC

7628571818, % NAVIGATOR
7628571819, ¥ NAVSTAR

7628571820, ¥ GLONASS

Question Number : 45 Question Id : 762857455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A= (NAVIC)

7628571817. ¢

7628571818, % TTeX (NAVIGATOR)

A9EeX (NAVSTAR)

7628571819, %

7628571820. * e (GLONASS)



Question Number : 46 Question Id : 762857456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ayushi complained to the electrician that the cooler of her room is running at a very slow speed. even if the speed is set
to maximum. Which among the following instruments can be used by the electrician to detect the fault?

Options :

7628571821, ¢ Multimeter

7628571822, % Barometer

7608571823, % vveigh-meter

7628571824, % Thermometer

Question Number : 46 Question Id : 762857456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

FeerAreY (Multimeter)

7628571821.

SUHET (Barometer)

7628571822, %

7628571823, % 3-HIeT (Weigh-meter)



7628571824, % JrgHTT (Thermometer)

Question Number : 47 Question Id : 762857457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given circuit diagram is of

+ —N .
R +
" L3 TC Vout
Options :
7608571825, % lowpass filter

7608571826, % highpass filter

7608571827, « bandpass filter

7608571808, % band-reject filter

Question Number : 47 Question Id : 762857457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
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Options :

7628571825, % o 97 et

7628571826, % g5 TH X

7628571827, 8= 97 feex

608571808, % SE-R=we e

Question Number : 48 Question Id : 762857458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A half-wave diode rectifier uses a diode having forward resistance of 20 ohms. If the load resistance is also 20 ohms,
then the voltage regulation is:

Options :

7628571829. % 20%

7628571830, ¥ 40%

7628571831, ¢ 100%



7628571832, % 200%

Question Number : 48 Question Id : 762857458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HY dET STOTE feSedhry F 20 A1 F 3T FoRIY el Tk SIE H 3T AT 74T 8| IfE e
gfeRIer &1 7T & 20 :1H g, ar Sees ®THET (votage regulation) faer grem?

Options :

7628571829, % 20%
7628571830. ¥ 40%
7628571831, ¢ 100%

7628571832. # 200%

Question Number : 49 Question Id : 762857459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rahul has infinite coins of denominations 1, 3, 4. What is the total number of ways in which a sum of 7 can be achieved

using these coins assuming that the order of the coins is NOT important?
Options :
7628571833, # 3

7628571834, ® 4

7628571835, ¢ 3



7628571836, ¥ ©

Question Number : 49 Question Id : 762857459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g & 9 1, 3, 4 & Jead & HAd @+ g1 T8 Fd gu o el 7 F7 Agaqor @l &, A
f&erert &1 39T e TH fhae §HE 940 S Hehd 8, Toreten %ol IT 7 @2

Options :

7628571833, % 3
7628571834, % 4
7628571835, ¢ D

7628571836, % ©

Question Number : 50 Question Id : 762857460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The prototvpe of the hali-humanoid made for the first unmanned Gaganyaan mission is named
Options :

7628571837, % Amber Mitra

7628571838 % Aakash Mitra

7628571839, % ‘Gagan Mitra



7608571840, v Vyom Mitra

Question Number : 50 Question Id : 762857460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
uge e Igd A e & R faffT gw-egaase & dieenT # A Far g2

Options :
7628571837, % 3 EE

7628571838, % HTRT TS

7628571839, % M4l EE

7628571840, v <O fAT

Section 2
Section Id : 76285724
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 50
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 76285784

Question Shuffling Allowed : Yes



Question Number : 51 Question Id : 762857361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the new name given to Rohtang Passageway that connects Manali to Ladakh by PM Modi in December 2019?
Options :

7628571441 % Kalam Tunnel

7628571442, « Atal Tunnel
7628571443, % Gandhi Tunnel

7628571444, % Bose Tunnel

Question Number : 51 Question Id : 762857361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
femet 2019 # guamSr & A% AT AT FATl § A9 F ASA ITeF UZAET &4 1 i TT 741 ATH
feam s #2

Options :

 FeeE T
7628571441, % =

T TLET
7628571442, ¥ >

Fmefr m@TeT
7628571443, % =

5 g
7628571444, % ~



Question Number : 52 Question Id : 762857362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following teams was crowned the 2019-20 Vijay Hazare Champions?
Options :

7628571445, % Tamil Nadu

7628571446, % Kerala
7628571447, « Karnataka
7628571448, ¥ Maharashtra

Question Number : 52 Question Id : 762857362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T=fofaa # o &y &7 7 T=w z=v Igw 2019-20 # T #if@er i 02

Options :

I EGIE

7628571445, % =

7628571446. % 2E

7628571447. ¢ FeACD

7628571448, % ALk



Question Number : 53 Question Id : 762857363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the National Ayurveda Day celebrated in 20197
Options :

7628571449, ¢ 25 October

7628571450, ¥ 24 October
7628571451, # 26 October

7628571452, % 27 October

Question Number : 53 Question Id : 762857363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2019 & T~ HgEG fGFw w9 Farar AT o9r?
Options :

25 3eFgal
7628571449. ¥ 2

. 24 el
7628571450. % 2

. 26 3eFcay
7628571451, # 2

27 3eFgal
7628571452, # 2

Question Number : 54 Question Id : 762857364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which Indian state is NOT considered as a tea producing state?
Options :
7628571453, ¥ Assam

7628571454, % Kerala

7628571455 % Wwest Bengal

7608571456, v Chhattisgarh

Question Number : 54 Question Id : 762857364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=T 7 O g 9T T7 F1 I19 3098 U7 J¢f AT AT 27

Options :
7628571453, % 3EH

7628571454, % el
7628571455, % TT9EH FIMSA

7628571456. ¢ GedraeTe

Question Number : 55 Question Id : 762857365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following gharanas of Hindustani music is widely regarded as the oldest gharana?
Options :

7608571457 % sgra Gharana

7628571458, % Lucknow Gharana

7628571459, % Taipur Gharana

7628571460, ¢ Gwalior Gharana

Question Number : 55 Question Id : 762857365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s ¥ frE figran wfa o & e ¥ 8§98 qUAT e A ST 82
Options :
7628571457, % HTEIHT H0eAT

7628571458, % o@eAS ENTEAT

7628571459, % Shrgs T

7628571460, ¢ 9 IR T

Question Number : 56 Question Id : 762857366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following States of India has the maximum area under sandalwood distribution/production?



Options :
7628571461, % Assam

7628571462, % Kerala
7628571463, + Karnataka

7628571464, % Wwest Bengal

Question Number : 56 Question Id : 762857366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT F 57 ¥ FH TS A 9ed & a3 F BaRurscaeT # IgFd &I Harees g2

Options :

7628571461, % 3THHA

7628571462, % e

7628571463, % © HIEH

7628571464, * TT2TH I

Question Number : 57 Question Id : 762857367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where are Kolar gold mines situated?
Options :



7628571465, % Andhra Pradesh
7628571466, % Maharashtra

7628571467, « Karnataka

7608571468, % Madhya Pradesh

Question Number : 57 Question Id : 762857367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FIX T FHr T Far 2T 82
Options :

7628571465, % HTST FERA

7628571466. % AL

7628571467. ¢ © DL

7608571468, % FET T

Question Number : 58 Question Id : 762857368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is Sawal Mansingh Stadium situated?
Options :

7628571469, ¢ JApUI



7628571470, % Bharatpur

7628571471, % Symer

7628571470, Jodhpur

Question Number : 58 Question Id : 762857368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

9L
7628571469. ¥ ~

., HAIETIT
7628571470, * =2

7628571471, % AR

7628571472, % =

Question Number : 59 Question Id : 762857369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which session of Congress was the demand for “Purna Swaraj” formalized?
Options :

7628571473, ®# 1941



7628571474, % 1921
7628571475, % 1939

7628571476, ¢ 1929

Question Number : 59 Question Id : 762857369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oo T B A FE & R e F & o o
Options :

7628571473, % 1941

7628571474, % 1921
7628571475, % 1939

7628571476, ¢ 1929

Question Number : 60 Question Id : 762857370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which state is the Keoladeo National Park (Bird Sanctuary) situated?
Options :

7628571477, % Uttar Pradesh

7608571478, # Madhya Pradesh



7628571479, ¢ Rajasthan

7628571480, % Bihar

Question Number : 60 Question Id : 762857370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FTART TET 3T (T&T 3RO e Tew F e 3

Options :
7628571477, % 3eak FeRm

7628571478, % FET TS

7628571479, « =TT

7628571480. * i gl

Sub-Section Number : 2
Sub-Section Id : 76285785
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 762857371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An object weighs 6000 N on the surface of the earth. What would be its weight on the surface of the moon?
Options :

7628571481, % 3600 N



7628571482, % 3600 kg

7628571483, ¢ 1000 N

7608571484, * 1000 kg

Question Number : 61 Question Id : 762857371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ifg gt #Fr Tag W RO avg &7 9 6000 N g, & =I9AT & Tag T S8 #X fFaar gem?

Options :

7628571481, % 3600 N

7628571482, % 3600 kg

7628571483, « 1000 N

7628571484, % 1000 kg

Question Number : 62 Question Id : 762857372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An electric iron of 1250 W is used for 3 hours per day. The energy consumed in one day by the electric iron is

units.
Options :

-

7628571485, % 37.5



7628571486, ¢ 3.75

-
i

7628571487, % 0.375

7628571488, % 375

Question Number : 62 Question Id : 762857372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1250 W & Ts Soifecs 3RS & 90 @7 3 92 393 Far e g1 soifees 3Ra @ o= fga &
T S ST dTelr Far SIS T

Options :

7628571485, % 37.5
7628571486, ¢ 3.79
7628571487. % 0.375

7628571488. % 379

Question Number : 63 Question Id : 762857373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where an object should be placed in front of a convex lens having focal length F1 to get a real image of the same size of
the object?

Options :

7628571489, % AUFL



7628571490, ¢ At 2F1

7628571491, % At infinity

7628571492, % Beyond 2F1

Question Number : 63 Question Id : 762857373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foret I7g &1 R F1mﬁmﬁw#mﬁﬁfmmm,aﬁq+@#aﬁm AT &7
rrafes gfafes grog & w2

Options :

7628571489, ® F1 T

7628571490, ¢ 2F1 T
7628571491, ® Had T

7628571492, * 2F1 & ores

Question Number : 64 Question Id : 762857374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How much current will an electric heater coil draw from 220 V source if the resistance of the coil is 100 Ohms?
Options :

7628571493, % 22A



7628571494, ¢ 2.2 A
7628571495, % 220 A

7628571496, % 0.22 A

Question Number : 64 Question Id : 762857374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
v faega dex &1 Fualr, orae afatr 100 Ohms &, 220V Hid & foraet amr i #cr 22

Options :

7628571493, % 22 A
7628571494 ¢ 2.2 A
7628571495, % 220 A

7628571496, ® 0.22 A

Question Number : 65 Question Id : 762857375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following metals will melt if vou keep it on your palm?
Options :

7628571497, % Barium

7628571498, % Sodium



7628571499 % Potassium

7628571500, ¢ Gallium

Question Number : 65 Question Id : 762857375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frefaf@a & @ i d@F urg g9 W e W e smeef?

Options :

7628571497, % SITH
7628571498, % TSTH
7628571499, % NCTATH
7628571500, ¢ 3N TOTTH

Question Number : 66 Question Id : 762857376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following groups in the modern periodic table contains 7 elements?
Options :
7628571501. #

fad

L

7628571502, *

I

7628571503, %



7628571504, ¢ 1

Question Number : 66 Question Id : 762857376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3YTF 3Ed ARV % BhE FHE A 7 aF &7
Options :

7628571501, % 3

7628571502, % 4
7628571503, % 2

7628571504, ¢ 1

Question Number : 67 Question Id : 762857377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the pH value of a salt is 12, then it is a salt of:
Options :

7628571505, % Weak acid and weak base

7608571506, v Weak acid and strong base
7628571507, % Strong acid and weak base

7628571508, % Swong acid and strong base



Question Number : 67 Question Id : 762857377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ofE 8T =90 &1 fv" A 12 8, ar O FT FS0T &

Options :

7628571505, * %éﬂ- Sl 3ﬁT ?ﬂ- o]

e 3T AR JaT &R

7628571506. ¥

S 3F 3R gEel &R

7628571507, *

608571508, % TEET 3FA AR T &R

Question Number : 68 Question Id : 762857378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mendel obtained F2 progeny from F1 plants by:
Options :

7608571500 % Vvegetative propagation

7628571510, % asexual reproduction

7628571511, # cross-pollination

7628571512, ¢ self-pollination



Question Number : 68 Question Id : 762857378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tea S FigiaF2aafad _ ZawT 9o $r o

Options :

7628571500, % STAEI IR el

7608571510 % AR FAeT
7628571511, % IT{-UITETOT

7628571512, ¢ EA-99T0T

Question Number : 69 Question Id : 762857379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the substance produced by a cell in viral infection that can protect other cells from further infection.

Options :
7628571513, # Colostrum

7628571514, % Histamine

7628571515, « Interferons

7628571516, % Serotonin

Question Number : 69 Question Id : 762857379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ReuEfaa FFAT A TF FIRF GFN 39 Tad §, A 3T BN B FHAT @ §
=T TehaT 2
Options :
J628571513, % PIOTESH
J628571514, % TGECTHISS
7628571515, FCTPe

7628571516, % SHEIED

Question Number : 70 Question Id : 762857380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why is it necessary to remove sulphur from petroleum products?
Options :

7608571517, % Lo increase the life span of engine silencers

7608571518, % L0 use sulphur removed from petroleum for commercial purposes

7608571519 % Lo increase efficiency of automobile engines

7608571500, v L0 Teduce the emission of sulphur dioxide in exhaust fumes



Question Number : 70 Question Id : 762857380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YAfTH 3cuEl ¥ gewl AsHNa T Fat 3raeTs g?

Options :

SoleT AT Fr 39TET 39T A T F fow

7628571517, %

Seifeew @ frsffa wom &1 aiftifeas gaisal 89 399 & & o

7628571518, #

2628571510 % HCTAGTSS STl I ZaTcl §g1 & foIw

fAehely aTof U H HoWT SIEHTFHSS & 3clad & FH &l & o
7628571520, ¥ e e = .

Sub-Section Number : 3
Sub-Section Id : 76285786
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 762857381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 ; 1 :
- added to another number gives a sum of - What is the other number?

Options :

1
7628571521, % 6

—1
7628571522. ¢ 6



5
7628571523, % 6
-2
7628571524, % 5

Question Number : 71 Question Id : 762857381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
+ s " 1 5 *
frel wEar &  Sisd W AETH S 9 g g &1 A9 fifEm

Options :

ol o=

7628571521, %

1
7628571522. ¢ 6
7628571523, %

2
7628571524, ¥ 5

Question Number : 72 Question Id : 762857382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Two numbers are in the ratio 4 : 7. Thrice the smaller number added to 1.5 times the other number gives a sum of 180.

What is the smaller number?
Options :

7628571525, % 24

7628571526, # 36
7628571527, % 28
32

7628571528, ¢

Question Number : 72 Question Id : 762857382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ar TEATHT & 3T 4 ¢ 7 §1 B TEA F A S F GET T & 1.5 I A s T AT 180
gred 2T g1 S TE AT S|

Options :
7628571525, ® 24

7628571526, % 36
7628571527, % 28

7628571528, ¥ 32

Question Number : 73 Question Id : 762857383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the options given below is the correct factorization of x2 — },2 + 12y — 367
Options :
7628571529 ¢ (X TY—6)X—-y T 6)

7608571530, % (XY T O)NX—-y—6)

7628571531, ¥ X TY—6)(X—y—6)

7628571532, % (X TYTONXTy—6)

Question Number : 73 Question Id : 762857383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol & =iF & faweT x2 - y2 + 12y - 36 & WEI UGS HI GaT g7

Options :

7628571520 ¢ (X * ¥ - B)(x -y + 6)

7628571530 % X =Y * 6)(x -y - 6)
7608571531, % (X * Y - B)(x -y - 6)

7608571532, % (X ¥ Y + 6)(x +y - 6)

Question Number : 74 Question Id : 762857384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A mumber. added to half of itself gives a sum of 51. What is that number?
Options :
7628571533, % 28

7628571534, ® 32
7628571535, ¢ 34

7628571536, ® 30

Question Number : 74 Question Id : 762857384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T O F T & 3T 7 ST 9T TG 51 UTtT g1aT & 98 TEAT AT SiaT)

Options :
7628571533, % 28

7628571534, % 32
7628571535, ¢ 34

7628571536, % 36

Question Number : 75 Question Id : 762857385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the angles given below is a reflex angle?
Options :



7628571537, % 373°
7628571538, & 275°
7628571539, % 1

7628571540, ¥ 75°

Question Number : 75 Question Id : 762857385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PrfafaT & ¥ Faar S gga o ¥
Options :

7628571537, % 375°

7628571538, ¢ 273°
7628571539, % 175°

7628571540, % 13°

Question Number : 76 Question Id : 762857386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In right-angled triangle ABC. right-angled at B, AB = 3 cm and BC =4 cm. BD is the altitude drawn from B on AC, to
intersect AC at D. What is the length of BD?

Options :

7628571541, % 2.6 cm



7628571542, % 2.5 cm
7628571543, ¢ 2.4 cm

7628571544, ¥ 2.25 cm

Question Number : 76 Question Id : 762857386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FHT s/ ABC #, ®I0T B ®HeIUT §, AB = 3 cm 3R BC = 4 cm g1 BD, &g B & AC W @i=n
T W@ g, S AC FF fig D W wfa=Sfia Fxar g1 BD #r FEs A9 Al

Options :
7628571541, % 2.6 cm

7628571542, ¥ 2.5 €m

7628571543, ¢ 2.4 cm

7628571544, ¥ 2.25 cm

Question Number : 77 Question Id : 762857387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O is the centre of a circle, and A, B and C are points on its circumference such that C is on the major arc AB. Non-reflex
£AOB = 50° What is the measure of ZACB?

Options :

7628571545, % 40°



7628571546, % 165°

7628571547, % 100°

259

7628571548, ¢

Question Number : 77 Question Id : 762857387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O U% Jed & ¥ g, AN A, B 3 C swdhr o ¥ fowa 00 g § % C &9 geaws AB X T
g1 I-gg9 FIUT LAOB = 50° | LACB F AT AT HifaT|

Options :

7628571545, % 40°

7628571546, % 163°

7628571547, % 100°

[
N
=]

7628571548, ¥

Question Number : 78 Question Id : 762857388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A hollow cylindrical pipe had a height of 10 cm. Its internal diameter is 6 cm and its external diameter is 8 cm. What is
the total surface area of this pipe?

Options :

~ 2
7628571549, ® 132mcm



7628571550, ¢ 1547 cm?

o 2
7628571551, # 147m cm

2
7628571552, % 280m cm

Question Number : 78 Question Id : 762857388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TIEer AR ST T F=1 10 cm g1 SHRT HdiF <ard 6 cm 3T SHFT 9EF I F 8 cm gl
UIST FH Fel TOIT T AT HITAT

Options :

2
7628571549, % 132m cm

2
7628571550, « 194m cm

2
7628571551, ¥ 147m cm

2
7628571552, % 280m cm

Question Number : 79 Question Id : 762857389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two cubical fair dice, with each having 1 to 6 written on the faces, are thrown. What is the probability that the product

of the numbers observed on the two faces on top is 127



Options :

7628571553, % 36

O 2

7628571554, %

O =

7628571555, ¢

o=

7628571556, *

Question Number : 79 Question Id : 762857389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
&l UATRIT rSiigd 9H ek A 2, 59 H ¥ 93% & Gere 9T 1 ﬁemmﬁﬁ§@§| oY o¥ 3=
3T X! Foleh! I HIS[G 37T FT UGS 12 g H Fdehar AT HfATY

Options :

1
7628571553, % 36

2
7628571554, % 9

1
7628571555. ¢ 9



1
7628571556, % 6

Question Number : 80 Question Id : 762857390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the top of a 150 meters high building, the angle of depression to the bottom of a second building is 30°. From the

same point. the angle of elevation to the top of the second building is 45°. Calculate the height of the second building.
Options :
2628571557 @ 150(¥3 + )m

7628571558, # 150v/3 m
7628571559, ¥ 300 m

7628571560, % 3003 m

Question Number : 80 Question Id : 762857390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

150 #HeX 71 U& $ARA & Y B, gl 3HRT F Wg fog &7 3aaq7a Hror 300 g1 36 g ¥, gud
SARG & oMY & 3eaA8a 0T 45° g1 GHY ARG FT FaOg 7 FHifoC

Options :

J628571557. v 150(V3 + 1) m

7628571558, ® 150V3 m



7628571559, # 300 m

7628571560, % 3003 m

Sub-Section Number : 4
Sub-Section Id : 76285787
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 762857391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a project, the teacher asked the children to write content as well as draw pictures. Some children drew only pictures

and some only wrote content. Some children were sick so they could not do either. The rest of the children did both.
Which of the following Venn diagrams correctly represents this situation?

Options :

D
O

7628571561, %

7628571562, ¢



7628571563, %

{@ &

Question Number : 81 Question Id : 762857391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T dede #, Rt 3 s= #r ow ome F ory-ary B g9e #® FE Fo §= F Fad °OF s99
AW Fo F S @ OW| FT =3 AR I, =ORT T A T ¥ Fo o A& = TF| AV g=4i & aAr
F Ul Aeifehd # @ #i9 @1 39 3IN@ @ TufT F7 TE & § weld a1 g2

Options :

7628571564, %

7628571561, %



D
O

7628571562, ¥

7628571563, %

O

7628571564, %

Question Number : 82 Question Id : 762857392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The following pie-chart shows the amount paid to Mohan on reselling 4 home items. Study the pie-chart and the answer

the given question based on it.

Aot conchibioner
&
|
I
I

25,000 \ /

.S
\-/'f
»
Fans

What percentage of the amount did he receive on selling items which are least used in winter?
Options :
7628571565. % 70%

7628571566. ¢ 80%

Ln

7628571567 ¥ 58%

7628571568, ¥ 39%

Question Number : 82 Question Id : 762857392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frrfera aR-a1C 7 4 W I F TRET G AT F oFAT # I AR Tl F T gl oS-
UE F FeTTAF F{ AT TH W AT 927 F el &

% 2~ 1 i
2
8~/
3 [ Z 15,000
I\. ,/
\\ f.rf- § = Cooler
s 5
\t.": { =
_x_?___ e
r
Fans

TR FHERET (Air Conditioner), &t (T.V.), #oX (Cooler), T& (Fans)
3% foraer gfcera fr @il 7 sgaas 39aeT @9 arelr argaft #r 91 § e §'§"

Options :

7628571565. % 70%
7628571566, ¢ 80%
7628571567. ¥ 98%

7628571568, % 39%

Question Number : 83 Question Id : 762857393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Study the given pattern carefully and select the letter that can replace the question mark (?) in it.

0.0
2.0.0
()

Options :
7628571569, % 1

7628571570, ¥ N
7628571571. ¢ G

7628571572, # K

Question Number : 83 Question Id : 762857393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



feT 1T S @ SUTEE FeTTA F AR I W F AIA I, A SHA T2 e (?) F T W AT
THaT &

()
00
)

Options :

7628571569, % |
7628571570, % N
7628571571, ¢ Q

7628571572, % K

Question Number : 84 Question Id : 762857394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If. E is coded as P, A is coded as V. I is coded as M, U is coded as T and O is coded as U, then write the English vowels
in order?

Options :

7628571573, % Y-BM. T U



7628571574, ® Y-U, M, P T
7628571575, % Y>M, P U. T

7628571576, ¢ Y-BM, U, T

Question Number : 84 Question Id : 762857394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R e s A ERP REraarg, AV omr Jrar g, | &t M o sar g, U & T forar
S g AT O Fr U Br@r Jar g, ar 36EE =10 # &5 7 ow?

Options :

7628571573, % V> Py M, T, U

7628571574, % Vo U, M, P, T

7628571575 % ¥ M, P, U, T

7628571576, ¢ Vo Py M, U, T

Question Number : 85 Question Id : 762857395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nishant went to meet his mother in her village. He met his mother’s mother and his sister’s father. How is his mother’s
mother related to his sister’s father?

Options :

7628571577, % Mother



7628571578, % Sister

7628571579 « Mother-in-law

7628571580, % Sister-in-law

Question Number : 85 Question Id : 762857395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 39T &1 ¥ Ao 39 9 7197 97| 98 JTT AT #T AT AT 394 g8 & Tar ¥ Fem 35h oA
Hr AT & 3HST 97 & OdT & FIT T 22

Options :

7628571577, % HI

7628571578, * Tgel
7628571579,  EIH

7628571580, ® 8 cl

Sub-Section Number : 5
Sub-Section Id : 76285788
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 762857396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements best describes YouTube?



Options :

7628571581, ¢ A video sharing website where people can share. like and comment on videos

7608571580, % A word editing software

7628571583, % A video editing desktop software

7608571584 % A chatting system

Question Number : 86 Question Id : 762857396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teafaf@a § & Fi9 A1 Y9 YTIF F Falcdd U HAT g7

Options :

7628571581, ¥

g v SifEr dufer J9aEe &, e FeT Af2E 9ST FT T £, 308 98 F THa g R A W
feoaforar &7 goa 2

1628571582, * T8 Tk 5 TSI @i @

ess1ss3. % T T ST vfEfie sverT AR g

J628571584. % TG Tk AT FhweH B

Question Number : 87 Question Id : 762857397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The default page movement in MS Word 2019 is:
Options :
7628571585, ¥ side to side

7628571586, ¢ Vvertical

7628571587, % diagonal

7628571588, % horizontal

Question Number : 87 Question Id : 762857397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MS Word 2019 # Relec 9 #@&ic _ @ar g
Options :
7628571585, % ¥ oEY WISE Hr HR

7628571586. ¥ FeaTe
7628571587, % TERUT
7628571588, % arfas

Question Number : 88 Question Id : 762857398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following selects the next process from the “ready” queue to get executed by the CPU?



Options :
7608571589, ¥ Long-term scheduler

7628571590, ¢ Short-term scheduler
7628571591 # Medium-term scheduler

7608571592 % Average-term scheduler

Question Number : 88 Question Id : 762857398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@ # ¥ Fi9, CPU T e (execute) I & IT “09” FaX (“ready” queue) T 373Telr
gfeRaT (process) T IS FIAT &2
Options :

e T-eH ATTeR
7628571589, % N

Me-TH ASTER

7628571590. ¢

Afsga-za TR

7628571591, *

TaT-2H VST

7628571592, %

Question Number : 89 Question Id : 762857399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The three Vs of big data are:

Options :
Aar F: T it TaliAditer

7608571593, % variety, Velocity and Validity

7608571504, % volume, Velocity and Vacancy

7608571595, v volume, Variety and Velocity

7628571596, % Volume, Velocity and Vanish

Question Number : 89 Question Id : 762857399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferearFda Vv Fl

Options :

8571503, % ST, AEEr A AFAEE (Variety, Velocity and Validity)

oA, JATRE AT FFAT (Volume, Velocity and Vacancy)

7628571594, % ™

2628571505, ¢ ATy RTser 3HT Jamt@er (Volume, Variety and Velocity)

it

oA, JATTRer AT 3o (Volume, Velocity and Vanish)

7628571596. % ™

Question Number : 90 Question Id : 762857400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following statements is correct about counting semaphores?
Options :
7628571597, % Their value must be between 0 and 1

7628571598, % Their value must be greater than 0 but less than 10

7628571599 % They must always begin with 100

7608571600, v Ihelr values can be anything

Question Number : 90 Question Id : 762857400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TATHR (semaphores) Fr 0T F X H SAH T i AT FUT TEr 27
Options :

8571507 AT A 0 3R 1 & Few & gar =ifgel

628571508, % TTPT AT 0 F e gl =feT aAfhad 10 & FF &1 gl =fev|

628571500 % TP EHAT 100 & £ I BT =T

628571600, v AR i N sfr & FeraT El

Sub-Section Number : 6
Sub-Section Id : 76285789
Question Shuffling Allowed : Yes



Question Number : 91 Question Id : 762857401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Vehicles left the no parking zone are susceptible theft.
Options :

7628571601, % OVer; for
7628571602, ¢ Wi 10
7628571603, % 1; of

7628571604, % O; Tor

Question Number : 91 Question Id : 762857401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Vehicles left the no parking zone are susceptible theft.
Options :

7628571601, % OVer: for
7628571602, « 110

7628571603, % i of



7628571604, % O for

Question Number : 92 Question Id : 762857402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Isthisthebook ~ found onthe bench?Itis . I forgot to pick it up.
Options :
7628571605, ¢ YOU- mine

7628571606, % L MY

7628571607, % YOUs YOUr

7628571608, % YOu: her

Question Number : 92 Question Id : 762857402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Isthisthe book _ found onthe bench? Itis .1 forgot to pick it up.
Options :
7628571605, ¢ YOU- mine

7628571606, % 1+ MY



7628571607, % YOu, your

7628571608, % YOu: her

Question Number : 93 Question Id : 762857403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that expresses the given sentence in passive voice.

I am going to conduct music classes for kids in the evenings.
Options :
7628571600, % Music classes for kids is conducted in the evenings by me.

7608571610 v Music classes for kids are going to be conducted by me in the evenings.

7608571611, % Music classes for kids were going to be conducted in the evenings by me.

7608571612, % Music classes for kids are going to be conduct in the evenings by me.

Question Number : 93 Question Id : 762857403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that expresses the given sentence in passive voice.

I am going to conduct music classes for kids in the evenings.
Options :



7628571600, % Music classes for kids is conducted in the evenings by me.

7608571610 v Music classes for kids are going to be conducted by me in the evenings.

7608571611, % Music classes for kids were going to be conducted in the evenings by me.

7628571612, % Music classes for kids are going to be conduct in the evenings by me.

Question Number : 94 Question Id : 762857404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that expresses the given sentence in reported speech.

Ramesh said to Ragini, “T like your paintings.”
A o p =

Options :

7628571613, # Ramesh told Ragini that he liked his paintings.

7608571614, % Ramesh told Ragini that he likes her paintings.

7628571615, v Ramesh told Ragini that he liked her paintings.

7608571616, # Ramesh told Ragini that he is liking her paintings.

Question Number : 94 Question Id : 762857404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that expresses the given sentence in reported speech.

Ramesh said to Ragini, “T like your paintings.”
Options :

7608571613, % Ramesh told Ragini that he liked his paintings.

7608571614, % Ramesh told Ragini that he likes her paintings.

7608571615, ¢ Ramesh told Ragini that he liked her paintings.

7608571616, % Ramesh told Ragini that he is liking her paintings.

Question Number : 95 Question Id : 762857405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of the following sentence are given as options. Identify the part that has an error.

The enhance penalties for traffic violations will be implemented soon.
Options :
7628571617, v Ihe enhance penalties

7628571618, % for traffic violations
7628571619, % Wwill be

7628571620, % implemented soon.



Question Number : 95 Question Id : 762857405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of the following sentence are given as options. Identify the part that has an error.

The enhance penalties for traffic violations will be implemented soon.
Options :
7628571617 ¥ The enhance penalties

7628571618, * for traffic violations

7628571619, % Will be

7628571620 % implemented soon.

Sub-Section Number : 7
Sub-Section Id : 76285790
Question Shuffling Allowed : Yes

Question Number : 96 Question Id : 762857406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRET § ¥ 9c5H o= &1 =9 Fifed|

Options :

7628571621. % El%

7628571622, % I

7628571623, ¢ ]



7628571624, % HUISK

Question Number : 96 Question Id : 762857406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRET § ¥ 9c5H o= &1 =9 Fifed|

Options :

7628571621. * El%

7628571622, % I

7628571623, ¢ ]

7628571624, % #HUISK

Question Number : 97 Question Id : 762857407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e foes gew &1 w9 A
Options :

7628571625, % FA-TeI AT

7628571626. % =

7628571627 & ffea-fergiee



. ollH-cIhHled
7628571628, # =

Question Number : 97 Question Id : 762857407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
wer faes g7 &1 =g fifed
Options :

7628571625, % TNA-TarAT

S-S

7628571626, *

7628571627. ¥ ffee-fergiee

HIHT-ugﬂh*HIrI

7628571628, #

Question Number : 98 Question Id : 762857408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

r=RfET # ¥ ‘9o e & w3 garmEs=T & 33T ST

Options :
7628571629, % e

7628571630. ¥ erc

. EIIa‘F{
7628571631, *



7628571632, % 30TE

Question Number : 98 Question Id : 762857408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=T & ¥ ‘o307 e & Bv 3T gutmaE a7 g S

Options :
7628571629, % e

7628571630. ¥ grcd

) an'é@r
7628571631, %
7628571632, % 3T0TE

Question Number : 99 Question Id : 762857409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘2T g HTST T e B?

Options :

7628571633, ¥ z
7628571634, * i% é"l

7628571635, * o]



7628571636, % 3 TS

Question Number : 99 Question Id : 762857409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘2T g HTST T e B?

Options :

7628571633, ¢ L
7628571634, # i% é"l

7628571635, * o]

7628571636, % 3 TS

Question Number : 100 Question Id : 762857410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HST THAT HegE F 3T T F 3?7 FE e v oTma e

Options :
7628571637, % SARMHT ohidsd

7628571638, % A H T

7628571639, # = !



=TIeHl T

7628571640. ¥

Question Number : 100 Question Id : 762857410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘HBT THAT T &1 3 Y FAT 27 FET [TEeT F TIa AT

Options :
7628571637, % ALl ehlad

7628571638, % I H T

7628571639, % = !

STIeHT FIAT

7628571640. ¥



